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Instructions for Candidates

1. Write your roll No. on the top immediately on receipt of this question paper.

2. All questions carry equal marks (18.5 marks each).

3. Attempt any four questions.

4. Note: Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper.

5. Use of simple calculator is allowed.
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1. (a) Discuss the merits and demerits of arithmetic mean and median. 5
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(b)Find the missing frequency for the given data if mean of the distribution is 36. 7
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Wages(in 10-20 20-30 30-40 40-50 50-60 60-70
Rs.)

No. of 3 10 X 4 6 2
Workers

(c) Calculate mean deviation and quartile deviation from the following data: 6.75
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Marks 0-10 10-20 20-30 30-40 40-50 50-60 60-70
No. of 4 6 10 20 10 6 4
Students

2. (a) What do you understand by dispersion? Explain briefly the various methods used for
measuring dispersion. 6.75
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(b) The number of employees, wages per employee and the variance of the wage per
employee for two factories are given below: 6
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Factory A Factory B
Number of Employees 50 100
Average wages per 120 85
employee per month (Rs.)
Variance of the wages per 9 16
employee per month (Rs.)

In which factory is there greater variation in the distribution of wages per employee?

fora herdY & Ui sherarY & faaRor 7 3178 e & 2

(c) Calculate the value of mode from the following distribution: 6
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Wages 20-25 25-30 30-35 35-40 40-45 45-50 50-55 | 55-60
No. of 40 60 90 170 140 110 60 50
Workers

3. (a) Explain the salient features of normal probability distribution. 5
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(b) The coefficient of correlation between two variables X and Y is 0.64. Their covariance is
16. The variance of X is 9. Find the standard deviation of Y series. 5
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(c) Calculate Pearson’s coefficient of skewness and kurtosis from the following data:  8.75
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12,5 17.5 22.5 27.5 32.5 37.5 42.5 47.5

X
F 28 42 54 108 129 61 45 33




4. (a) Calculate the first four moments about the mean and arbitrary origin 2 for the set of
numbers 3,4,5,6 and 7.
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(b) What is index number? What are the various uses of index numbers? 5
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(c) From the following data obtain regression equation Y on X. 8.75
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X 6 2 10 4 8 6
Y 2 5 3 7 4 8

5. (a) A bag contains 5 white and 3 black balls. Two balls are drawn at random one after the
other without replacement. Find the probability that both balls drawn are black. 5
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(b) Construct index numbers of price from the following data by applying (i) Fisher (ii)

Marshall Edgeworth Method. 8.75
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Commodities 2010 2020
Price Quantity Price Quantity
A 2 8 6 6
B 5 10 4 5
C 4 14 5 10
D 2 19 2 13
(c) Distinguish between primary and secondary data? 5
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6. (a)Calculate the coefficient of correlation from the following data: 8.75
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X 6 2 10 4 8 6
Y 2 5 3 7 4 8
(b)Explain the meaning and significance of the concept of regression. 5
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(c) Is there any inconsistency in the statement “the mean of binomial distribution is 80 and standard
deviation 8”? If no inconsistency is found, what shall be the value of p,q and n? 5
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